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Reserve Design Activity 
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Exercise 1 

Objectives: 

• Represent target amount for feature 1, 2, 3 

• Minimize cost  

• Consider spatial configuration: Try to ensure that 

most of the selected planning units are adjacent 

to at least one other planning unit 
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Consider clumping 

• Count the number of outside edges 

• Each edge counts * 100  

12 edges * 100 = 1200 

8 edges * 100 = 800 
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Webpage computes “target gap” and “cost” 
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www.aproposinfosystems.com/media/marxan-demo.html 
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You can start now.  

You have 10 min to find the best 

solution. 

Good luck !! 

  



Results of Marxan 

Lowest cost solution = 1775 

6 



Results of Marxan 

Lowest cost clumped solution 
Cost= 3140 
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Now consider… 

• More features (a few hundred?) 

• More spatial constraints 

• The problem gets so large that it is 

impossible to find a good solution in 

reasonable amount of time  
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